	
3GPP TSG-RAN5 Meeting #2021-TTCN email	R5s210166
Online, , 7th Dec 2020 - 31st Dec 2021
	CR-Form-v12.1

	CHANGE REQUEST

	

	
	38.523-3
	CR
	1572
	rev
	-
	Current version:
	16.0.0
	

	

	For HELP on using this form: comprehensive instructions can be found at 
http://www.3gpp.org/Change-Requests.

	



	Proposed change affects:
	UICC apps
	
	ME
	
	Radio Access Network
	
	Core Network
	



	

	Title:	
	Correction to NR5GC testcase 9.1.1.1

	
	

	Source to WG:
	ROHDE & SCHWARZ

	Source to TSG:
	R5

	
	

	Work item code:
	5GS_NR_LTE-UEConTest
	
	Date:
	2021-02-04

	
	
	
	
	

	Category:
	F
	
	Release:
	Rel-16

	
	Use one of the following categories:
F  (correction)
A  (mirror corresponding to a change in an earlier 													release)
B  (addition of feature), 
C  (functional modification of feature)
D  (editorial modification)
Detailed explanations of the above categories can
be found in 3GPP TR 21.900.
	Use one of the following releases:
Rel-8	(Release 8)
Rel-9	(Release 9)
Rel-10	(Release 10)
Rel-11	(Release 11)
…
Rel-15	(Release 15)
Rel-16	(Release 16)
Rel-17	(Release 17)
Rel-18	(Release 18)

	
	

	Reason for change:
	In the current TTCN implementation, after Step 6 following assignments are done :
v_NAS_IncorrectSecurityParams := v_NAS_SecurityParams;
    v_AUTNSQN := substr(v_NAS_IncorrectSecurityParams.AuthParams.AUTN, 0, 48);
    v_AUTNSQN := v_AUTNSQN xor4b '111'B;
   // v_NAS_IncorrectSecurityParams.AuthParams.AUTN := v_AUTNSQN & substr(v_NAS_IncorrectSecurityParams.AuthParams.AUTN, 48, 80);

These are unnecessary, as the variable v_AUTNSQN is not used anywhere in the testcase after this assignment.

Moreover, the assignment :
v_AUTNSQN := v_AUTNSQN xor4b '111'B;

causes a runtime error. This is because according to TTCN specification ES 201 873-1 V4.12.1 Sec 7.1.5 the operator xor4b expects two operands of equal length but in the above assignment that is not the case.

It is proposed to remove those assignments from the TTCN.
 

	
	

	Summary of change:
	Removed the assignments

Please see below

	
	

	Consequences if not approved:
	The testcase fail because of a run-time error
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1. [bookmark: _Toc122434488][bookmark: _Toc295288959][bookmark: _Toc63337761]Corrections required
0.1 [bookmark: _Toc63337762]function fl_TC_9_1_1_1_TestBody 
	Function name
	fl_TC_9_1_1_1_TestBody

	Reason for change
	In the current TTCN implementation, after Step 6 following assignments are done :
v_NAS_IncorrectSecurityParams := v_NAS_SecurityParams;
    v_AUTNSQN := substr(v_NAS_IncorrectSecurityParams.AuthParams.AUTN, 0, 48);
    v_AUTNSQN := v_AUTNSQN xor4b '111'B;
   // v_NAS_IncorrectSecurityParams.AuthParams.AUTN := v_AUTNSQN & substr(v_NAS_IncorrectSecurityParams.AuthParams.AUTN, 48, 80);

These are unnecessary, as the variable v_AUTNSQN is not used anywhere in the testcase after this assignment.

Moreover, the assignment :
v_AUTNSQN := v_AUTNSQN xor4b '111'B;

causes a runtime error. This is because according to TTCN specification ES 201 873-1 V4.12.1 Sec 7.1.5 the operator xor4b expects two operands of equal length but in the above assignment that is not the case.

It is proposed to remove those assignments from the TTCN.


	Summary of change
	Removed the assignments

Please see below

	TTCN module
	ATS_NR5GC/9_1_1/Authentication_NR5GC.ttcn

	MCC160 Comment
	



Before Change:
	<<SKIPPED CODE>>
//@siclog "Step 7" siclog@
    // start with the correct parameters, then change the AUTN
    v_NAS_IncorrectSecurityParams := v_NAS_SecurityParams;
    v_AUTNSQN := substr(v_NAS_IncorrectSecurityParams.AuthParams.AUTN, 0, 48);
    v_AUTNSQN := v_AUTNSQN xor4b '111'B;
   // v_NAS_IncorrectSecurityParams.AuthParams.AUTN := v_AUTNSQN & substr(v_NAS_IncorrectSecurityParams.AuthParams.AUTN, 48, 80);
    v_NAS_IncorrectSecurityParams := f_NG_EAP_AuthenticationInit(v_NAS_IncorrectSecurityParams, v_PLMN, hex2str(px_IMSI_Def), -, sqnFailure); // @sic R5s201021 sic@ 
<<SKIPPED CODE>>




After Change:
	<<SKIPPED CODE>>
//@siclog "Step 7" siclog@
    // start with the correct parameters, then change the AUTN
    v_NAS_IncorrectSecurityParams := v_NAS_SecurityParams;
   //REMOVED v_AUTNSQN := substr(v_NAS_IncorrectSecurityParams.AuthParams.AUTN, 0, 48);
    //REMOVED v_AUTNSQN := v_AUTNSQN xor4b '111'B;
   //REMOVED v_NAS_IncorrectSecurityParams.AuthParams.AUTN := v_AUTNSQN & substr(v_NAS_IncorrectSecurityParams.AuthParams.AUTN, 48, 80);
    v_NAS_IncorrectSecurityParams := f_NG_EAP_AuthenticationInit(v_NAS_IncorrectSecurityParams, v_PLMN, hex2str(px_IMSI_Def), -, sqnFailure); // @sic R5s201021 sic@ 
<<SKIPPED CODE>>



